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B AWEIIEIBRASB AL 24 %iE ghbxb MR AWERAHEBERE 5 % RE
B O M (FaAA)
B 2 = £ |

i g FEEM | B A | B E %7 B T = FEE E % B
FT TR B 200 g 75 54 | NT ABRDA 5 7, 560 2,376
L A7 200 ¢ 108 — || o»3 | - —
ZEDOR 200 g 75 54 | EK =8 7,344 3, 780
IEONAZED 150 g 205 194 | Bk — —
FRE 8 ke 5,184 | 1,080 | —+1k Vi 8, 100 —
Ly AEL 150 g 108 — | N AR — —

— . — = bbb E 5 4, 860 2, 700

AN 10 ke 1, 080 648 | 77 U7 = R 378 248
FFEIZ AT A 10 ke 2,160 | 1,296 | Ei& K IR 540 —
< &N K 15 ke 2, 106 1,296 | \WH L = B 486 378
XY e 10 ke 1,728 864 | T—NAA T = 7,776 7,128
LA A = 10 ke 4,320 2,160 { TV H = % 5, 940 4,320
ZwIb = 5 ke 3, 024 -
72 = 5 ke 2, 160 —
k< K ooy 4 kg 1, b12 —
B % 150 g 108 36
T Lo } 10 ke 4,320 3, 240
frE 20 ke 3, 456 3, 240
A LW 100 g 162 75
F07 4T 1 kg| 16, 200 8, 640
LU 100 g 64 32
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e =2} iz} +

5 5 | EEEH | B | B & % B T B FEEM | B i | & E % &
AFE AR RE 1 ke 2, 484 2,268 || Y F 1 ke 2,592 1,080
mE A e & 1 ke 1,296 1,188 | YN SV = — 1ke 1,512 648
7 = & 1 ke 972 259 | ¥ T = 7 AU A 1 ke 2, 160 1, 080
U 'O 1 ke 2, 592 237 | A KL 1ke 1, 404 -
AT = Y 1 ke 486 216 | TV A =5 1 ke 4, 320 1,728
AV A A T i 1ke 1, 620 907 | BATH v~ bHEiE 14 248 162
{ENv T ™5 1 ke 1,728 205
155 A = IR 1 ke 1, 458 216
&4 = £ E 1 ke 1,944 1, 620

INTE FraEk L 1 ke 2, 700 216

s, = 1 ke 1, 620 594

rAH ' IF 1 ke 3, 780 1,728




